Calculating the Quantum of an Occupation Fee

Generally, as occupation rent is a form of mesne profits, it is restitutionary in nature and designed to disgorge any
benefit that one owner has derived from the property where it was meant to be shared with another. Hence, it may be
relevant to determining occupation rent to first determine the nature of the property interest (i.e is the interest held as
joint tenants or tenants in common and in what shares). Thus, where the occupying co-owner and the non-occupying
co-owner held the property in equal shares, the occupation fee will usually be half the rental value of the land: Biviano
v Natoli; Callow v Rupchev.

A and B are tenants in Common in Whiteacre. A’s
beneficial share in the property is 4/10 and B’s
beneficial share in the property is 6/10. B is ousted
from the property and makes a claim for
occupation rents from A. The rent per week on the
property is $100. A will be liable to pay B $60 per
week for the period for which they have been
ousted.

I.E Ais not paying B for their own occupation of
the property, but compensating B for their non-
use of the property.

A and B are co-owners in equal shares of a property in which A resides, but B does not. A makes
S50K worth of improvements to the property and brings a claim for improvements against B. B
cross-claims for occupation rent. The calculated value of the occupation rent to which B is entitled
is 25K. The effect of B’s cross-claim will be that A’s claim for improvement is reduced to an
entitlement of 50K [the improvement amount — the occupation rent]. However, B’s cross-claim
will only have the effect that the improvement claim is reduced to 0. It is not possible that B
receives a positive contribution from A in respect of the occupation rent, even if it is the case that
the occupation rent was worth more than 50K.

The calculation of o¢ i V occupation fee is payable by way of set-off against

Value of Occupying Co- ossession (VO) — Value of Non-Occupancy Owners Possession (VN)

X

VN'’s share in beneficial title (VNBT)
Mortgage Repayments

In a situation where the claim for improvements that is made pertains to mortgage instalments, the calculation is again
different. The co-owner in occupation will be entitled to recover the capital amount which they have contributed to the
mortgage, however cannot make a claim for the interest. As a consequence of this limitation, the co-owner out of
occupation is estopped from claiming an occupation fee: Callow v Rupchev

A and B are co-owners in equal shares of a property in which A resides, but B does not. A
makes an additional 50K in contributions to the mortgage which C holds over the

property. 45K of this is a capital contribution to repaying the principal, whilst 5K is
payments made in interest. A then claims against B for improvements. Whilst A will be
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% Relevant Case: Ryan v Dries

Facts: The appellant (Ryan) and the respondent (Dries) bought a house together in unequal shares of 43/100 and
57/100 the Appellant paying more. The respondent resided there on weekends with him. The appellant paid the
majority of duties and costs and repaid the entirety of the loan himself. The relationship broke down and the Appellant
changed the locks thus excluding the Respondent from the property. The respondent claimed occupation rent.

Allowance for Improvements

Although at common law, little recognition is afforded to moneys spent on improv
Equity, the position is different. Where an individual spends funds i 1mprov1ng the lan i en into account
when determining the distribution of funds from an eventual sale. A will constitute a
charge on the land, such that they form a proprietary right in the lan against a co-owner.
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- Resumption
- Private Sale
- Declaration (and termination) of benefici

KEY LIMITATION: Any entitlement for com
the increased value of the property: Squire v Ro

ceed the lesser amount spent or

Additionally, any improvements t have been ma i individual has possession: Brickwood v

Young.
% Relevant Case: Squire v Rogers
Facts: In 1962 a lea ' t joigtly. n 1963, the respondent left Australia and
land, with which the app 1 ‘ ied. st i ts so made by him were largely destroyed by

Cyclone Tracey in 1974 que ' ended further moneys in improvements and, on the land he

, rooms and caravans. The respondent had made no
paid by the appellant. Upon an application by the

evidence by the appellant in it the total increment in value of the land as a result of the improvements did not
exceed 15K.

Relevant Principles

- The receipts for ppellant should be liable to account on the respondent’s claim were limited to
those receipts whic d properly be regarded as rents and revenue of the common property itself as distinct
from profits which the appellant might have made by his use and occupation of the common property.

- Where a co-owner in occupation has been in receipt of rent and profits from the property and used them to
finance improvements, in seeking an allowance for the proportion of the rent and profits they must make the
occupying owner an allowance in respect of the moneys spent, not simply as much of them as results in an
advancement of the value of the land.



COVENANTS: ARE THEY ENFORCABLE AGAINST A SIT?

Question 1: Does the Covenant comply with the formalities under S88(1) Conveyancing Act ?
NB: If not, the covenant will not be enforceable against any SIT.

Question 2: If the land is Torrens, is the Covenant recorded in the folio of the burdened land?
If YES: The covenant may be enforceable against a SIT, turn to Question 3.
If NO: The covenant is not enforceable against a SIT [unless some other exception to indefeasibility arises]

Question 3: Do the burden and/or the benefit run [as required = see below] ?
If YES: The covenant is enforceable
If NO: The covenant is not enforceable
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QUESTION 3: DO THE BURDEN AND BENEFIT RUN AS REQUIRED

1. Whether or not a covenant is enforceable against a succe
tenement depends upon whether the burden or benefit has
burdens may run at law or in equity.

a. However, where reliance is placed in Eg
also be placed in that area for the ru

b. NB: Where a covenant arises unde
[because it will be defeated b

i. Where it is recorde :

2. Three situations arise to determine il be ccessor in title
(SIT):

a. Where the owner of the servien

c: Where both owﬂe changed:

HAS THE COVENANT RUN AT LAW?

N W W
HAS THE BURDEN RUN?

e a deed or other document gives a benefit to one party but makes
nent of that benefit conditional on the adoption of a burden then the burden

I.E They must relate to the same subject matter

1. E.G in Halsall an arrangement whereby a fee was paid to
use the roads etc was sufficiently conceptually linked.

2. E.G In Rhone v Stephens an arrangement to keep the
roof in repair was not reciprocal to a promise not to
interfere with the structural integrity of the adjoining wall.

b. The grantee must be in a position to elect to take the benefit or not
take the benefit: Rhone v Stephens; Halsall v Brizell
i. L.E They must be in a position to give up the benefit, thereby
escaping the burden.

1. In Rhone v Stephens: The benefit of the structural
integrity of the wall was not one that the owner was free to
eject from.




The Essential Fabric of an Easement Option

1. Where a covenant is made by the grantor or grantee of an easement so as to
contribute to the cost of its maintenance [the burden of it] it will run with the

easement: Frater v Finlay

a. Includes where a covenant is an easement, part of an easement or

incident to an easement.

b. NB: In such a case, you would be required to prove that the

easement was also valid and in effect.

2. In NSW enabled by s88BA of the Conveyancing Act

a. 88BA: A covenant may be imposed requiring the maintenance or repair or

the maintenance and repair of land that is t

i. [thus once registered, the
enforceable/indefeasible].

b. How does the provision have statutory e
i. S88BA deems any

presumption under sta
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verses the CL

HAS THE BENEFIT RUN?

land] at the time the
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1. The covenant

2,

e same as the original covenantee.

aus where there is a positive covenant, the legal estate in land must be

HAS THE COVENANT RUN IN EQUITY?

HAS THE BURDEN RUN?

1. For the burden to run in Equity, five criteria must be satisfied:

a. The covenant must be neqative in substance: Rhone v Stephens
This is determined in relation to the substance of the covenant, not its wording.
Equity regards a breach of a negative covenant as unconscionable as it allows one party
to profit at the expense of another: Forestview Nominees v Perpetual Trustees
Where a covenant has both positive and negative obligations, the positive obligations

may be severed in order to enforce the negative obligations.



b. The benefit must benefit the land owned by the covenantee [dominant land] at the time the
covenant was entered into: Forestview Nominees v Perpetual Trustees
i. NB: A reframing of the test in Re Ballard’s Conveyance to ask instead whether the land is
reasonable capable of being affected by a breach of the covenant.

1. The covenant must be for the benefit of the land [for its better enjoyment/to
enhance its value] rather than merely for the benefit of the owner.

2. ltis presumed that the covenant relates to the dominant land as a whole rather
than each part unless the covenant is intended to benefit each and every part of
the dominant land: Ellison v O’Neill

a. The dominant land must therefore not be too large to benefit from the
covenant: Re Ballard’s Conveyance
i. |.E Where the land is subdivided a presumption that the
subdivided parts will not recei enefit of the covenant:
Ellison v O’Neill
c. The Covenantor and Covenantee intended that the burden o
the dominant land.
i. Under S70A, this intention is deemed unle
d. There must be no interference from a bona fide p
i. Where a successor in title to the servient la ot be bound by the
covenant.
e. The covenant must comply with the
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